Name Date

Solve each problem using two different strategies.

1. 456 +244 =

a. First Strategy b. Second Strategy

2. 698 + =945

a. First Strategy b. Second Strategy
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Circle a strategy to solve and explain why you chose that strategy.

3. 257 +160 =
a. Arrow way or vertical form
b. Solve: c. Explanation:
4. 754 - 597 =
a. Number bond or arrow way
b. Solve: c. Explanation:
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Answer Key

1. 700 3. a. Strategy circled
a. Strategies will vary. b. Circled strategy used to solve; 417
b. Strategies will vary. c. Explanations will vary.

2. 247 4, a. Strategy circled
a. Strategies will vary. b. Circled strategy used to solve; 157
b. Strategies will vary. c. Explanations will vary.
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